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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 1st Semester Examination, 2020, held in 2021 

CEMHGEC01T/CEMGCOR01T-CHEMISTRY (GE1/DSC1) 

Time Allotted: 2 Hours  Full Marks: 40 

The figures in the margin indicate marks of question. pািnক সীমার মধ°s সংখ°ািট pেűর মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীেদর িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর িদেত হেব। 

All symbols are of usual significance. 

 SECTION-A
িবভাগ-ক 

Answer any four questions taking one from each unit 

UNIT-I 

1.  (a) (i) State the postulate of quantization of angular momentum in Bohr’s theory of 
atomic structure and its importance. 

 েবােরর পারমাণিবক গঠনতেttর েকৗিণক ভরেবেগর েকায়াnাইেজশন সmিকর্ত sীকাযর্িট উেlখ 
কেরা এবং এর grt বয্াখয্া কেরা। 

2+2

 (ii) Mention the demerits of Bohr’s theory of atomic structure. 
 েবােরর পারমাণিবক গঠনতেttর অসাফলয্ উেlখ কেরা। 

(b) What is Hund's rule? Write down the electronic configuration of Mn2+ ion. 
hn-এর সূtিট িক ? 2Mn  আয়ন-এর ইেলkন িবনয্াস েলেখা। 

1+1

  
2.  (a) (i) Determine the possible values of all four quantum numbers of an electron in 

4s orbital (4s1). 
 4s কkেক অবিsত একিট ইেলkেনর (4s1) চারিট সmাবয্ েকায়াnাম সংখয্ার মান িনণর্য় কেরা। 

2+2

 (ii) When two electrons are present in 4s orbital (4s2), which quantum number 
would be different for the two electrons and why? 

 4s কkেক যখন dিট ইেলkন থাকেব (4s2), েসেkেt েকান েকায়াnাম সংখয্ার মান ইেলkন 
dিটর জনয্ িভn হেব এবং েকন ? 

(b) State the limitations of Aufbau principle.
অফবাউ নীিতর অসmূণর্তা উেlখ কেরা। 

2

  

 UNIT-II 
3.  (a) Discuss the position of hydrogen atom in the periodic table. 

পযর্ায় সারণীেত হাইে»ােজেনর অবsান সmেকর্ আেলাচনা কেরা। 
2

(b) The first ionization energy of nitrogen is greater than that of oxygen. Explain. 
নাইে¹ােজেনর pথম আয়নীভবন শিk অিkেজন অেপkা অিধক। বয্াখয্া কেরা। 

2
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4.  (a) Distinguish between electron affinity and electronegativity with proper example. 
উপযুk উদাহরণসহ ইেলkন আসিk এবং তিড়ৎ ঋণাtকতার মেধয্ পাথর্কয্ কেরা। 

2

(b) Arrange the following ions in order of increasing ionic radius giving proper 
reasons: 
িনmিলিখত আয়নgিলেক আয়নীয় বয্াসােধর্র ঊধর্kেম সাজাওঃ 
  Br ,  I ,  Na ,  H  

2

  

 UNIT-III 

5.  (a) Discuss about the Lewis acidity of BCl3. 
BCl3-এর লুইস আিmকতা সmেকর্ আেলাচনা কেরা। 

2

(b) Which one is a stronger Lewis base NH3 or Me3N? — Explain. 
NH3 ও  Me3N-এর মেধয্ েকানিট তীbতর লুইস kার ? বয্াখয্া কেরা। 

2

(c) Briefly discuss about the Lux-Flood concept of acids and bases. 
অm ও kার সmিকর্ত লাk-Ņাড ধারণািট সংেkেপ আেলাচনা কেরা। 

2

  
6.  (a) Explain the terms conjugate acid and conjugate base with one example of each. 

pিতিটর একিট উদাহরণ সহেযােগ অনুবnী অm এবং অনুবnী kার বলেত িক েবােঝা েলেখা। 
3

(b) The equilibrium constant for the following reaction is less than unity (K < 1). 
Explain on the basis of HSAB concept. 
িনmিলিখত িবিkয়ািটর সাময্ rবেকর মান ১ অেপkা কম (K < 1)। HSAB অm ও kার তেttর 
সাহােযয্ বয্াখয্া কেরা। 
   2LiFIHg 22  ⇌ 2LiI2HgF  

3

  

 UNIT-IV 

7.  (a) Identify the oxidant and reductant species in the following reaction with proper 
explanation calculating the oxidation number: 
িনmিলিখত িবিkয়ািটেত জারক ও িবজারক পদাথর্gিলেক িচিhত কেরা, জারণ সংখয্া িনণর্য় কের 
উপযুk বয্াখয্া pদান কেরা। 
  Na2SO3 + K2Cr2O7  ⟶ Na2SO4 + Cr2(SO4)3 

2

(b) Calculate the equivalent weight of K2Cr2O7 in acid medium (formula weight of 
K2Cr2O7 is 294.2). 
আিmক মাধয্েম K2Cr2O7 -এর tলয্াì ভার িনণর্য় কেরা  (K2Cr2O7-এর সংেকত ওজন 294.2)। 

2

  
8.  (a) Mention the oxidation numbers of sulfur in the following:  

 H2SO4,    H2S,    S (element),    Na2SO4 
িনmিলিখত পদাথর্gিলেত সালফােরর জারণ সংখয্া িচিhত কেরাঃ  
 H2SO4,    H2S,    S (েমৗল),    Na2SO4 

2

(b) Balance the following redox reaction by ion-electron method: 
আয়ন-ইেলkন পdিতেত নীেচর িবিkয়ািট বয্ালাn কেরা (আিmক মাধয্েম) 
 Cr2O7

2  + SO2   Cr3+ + SO4
2   (in acid medium) 

2
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 SECTION-B 

িবভাগ-খ 
Answer any four questions taking one from each unit 

 UNIT-I 
9.  (a) Explain the stability of the following carbocations: 

িনmিলিখত কােবর্াকয্াটায়নgিলর sািয়t আেলাচনা কেরাঃ 
  Me3C+,   Me2HC+,   2CH-Ph  

2

(b) Explain with suitable example what you mean by homolytic and heterolytic 
cleavage of bonds. 
উপযুk উদাহরণসহ েহােমা-লাইিটক এবং েহেটেরা-লাইিটক বnনী িবদারণ বলেত িক েবাঝায় 
আেলাচনা কেরা। 

2

  
10.(a) Which one is a stronger nucleophile NH3 or 2NH ? — Explain.  

NH3 ও 2NH -এর মেধয্ েকানিট তীbতর িনউেkওফাইল ? — বয্াখয্া কেরা। 

2

(b) Draw the possible resonating structures of phenoxide ion. 
েফেনাkাইড আয়ন এর সmাবয্ snন-জিনত গঠনgিল অìন কেরা। 

2

  

 UNIT-II 
11.(a) Explain with example: enantiomerism and diastereomerism. 

উদাহরণসহ বয্াখয্া কেরাঃ এনানশেমরীসম এবং িডয়াsােরওেমিরসম। 
3

(b) What is center of symmetry? Draw the structure of an organic molecule having 
this symmetry element. 
pিতসাময্ িবnু িক ? একিট �জবেযৗেগর আkিত অìন কেরা যার মেধয্ এই pিতসাময্ উপাদানিট 
বতর্মান। 

2

  
12.(a) Designate the R/S centers in the following compounds. 

িনmিলিখত েযৗগgিলেত R/S  েকndgিলেক িচিhত কেরা। 
 
 
 
 
 
 

3

(b) Draw the structures of S-2-chlorobutane and Z-2-butene. 
S-2-েkােরািবউেটন ও Z-2-িবউিটন-এর গঠন অìন কেরা। 

2

  

 UNIT-III 
13.(a) Discuss about the Saytzeff elimination with suitable example. 

উপযুk উদাহরণসহ েসটেজফ অপনয়ন সmেকর্ আেলাচনা কেরা। 
2

H 

Me 

Br

PhCl 

Me 

and

Ph

Cl

Me

Br

Me

H
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(b) An antiperiplanar transition state in E2 mechanism favors the reaction. Justify or 
contradict. 
E2 িবিkয়া েকৗশেল rপাnর অবsািটর (transition state) এিnেপিরpয্ানার গঠন িবিkয়ার পেk 
সহায়ক। নয্াযয্তা pিতপাদন অথবা সমােলাচনা কেরা। 

2

  

14.(a) SN1 reaction yields racemic mixture. Justify or contradict with suitable 
mechanism. 
SN1  িবিkয়ার েkেt েরিসিমক িমËণ �তরী হয়। িবিkয়া েকৗশল সহেযােগ নয্াযয্তা pিতপাদন অথবা 
সমােলাচনা কেরা। 

2

(b) The reaction rate for E1 is influenced only by the concentration of alkyl halide 
while that for E2 the rate is influenced by the concentrations of alkyl halide and 
the base. — Explain. 
E1 িবিkয়ার হার ǖধুমাt আলিকল হয্ালাইড-এর গাঢ়েtর ওপর িনভর্র কের, িকnt E2 িবিkয়ার হার 
আলিকল হয্ালাইড এবং kার উভেয়র গাঢ়েtর ওপর িনভর্র কের। — বয্াখয্া কেরা। 

2

  

 UNIT-IV 

15.(a) Write short note on Wurtz reaction. 
সংিkp টীকা েলেখাঃ উটর্জ িবিkয়া (Wurtz reaction)। 

2

(b) Catalytic hydrogenation of alkenes results in syn-addition. Explain. 
এলিকেনর অনুঘটক হাইে»ােজনশন িবিkয়ােত িসন-সংেযাজন হয়। বয্াখয্া কেরা। 

2

(c) Convert trans-2-butene to cis-2-butene. 
rপাnর কেরাঃ ¹াn-2-িবউিটন েথেক িসস-2-িবউিটন। 

3

  

16.(a) Write a short note on Markownikoff’s addition (with mechanism). 
সংিkp টীকা েলেখাঃ মাকর্ওিনেকাফ সংেযাজন (িবিkয়া েকৗশলসহ)। 

3

(b) Predict the products of ozonolysis of 2-methyl pentene. 
2-িমথাইল েপনিটন-এর ওজনিলিসস িবিkয়ায় িবিkয়াজাত পদাথর্gিল েলেখা। 

2

(c) Identify A and B in the following reaction scheme
িনmিলিখত িবিkয়া pবােহ A এবং B-েক সনাk কেরা। 
 
 
 

2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 

 

R2C = 2RC  NaIO4 

KMnO4 
(alk) 

A B


